PRETIA « mERAER =B ()

ot
-
RS

[
<13
£

E s - =

b gl

2025 F ZETAR (FE) BW=FF ()

—. EFREARS 12 MVE SN 4 9.3t 48 S ARG HBEOMERD A -RERFS
R B 25K 09, {8 Pk B Rl Y F BHE AR F IR S A.

[ N% x3_ax P NV
1. FHx ==22KE/(x)=— 15— 25 (8] iy i, il e = ( )
X +2x
A. =2 B. 2 C. 4 D. -4
sin x° £0
2. W /(D=1 x ’ “If(x) ZEx = 0 4 ( )
0, x=0,
A. RiEs: B. EZ{EHAT T
C. W%, Hf(0)=0 D. W& A0 =1
- sin2x 3 . .
3. FEH f(x)==—"=+lim f{x). Wlim / (x) = (
A. —4 B. -2 C. 2 D. 4
4. i&j(x)zj.;xxcostzdt,'J_'JJ_]‘ "(x)= ( )
A . xcosdx’ B. 2xcos4x’
2x 2x
C. IO cost*dt + 2xcosdx? D. IO cosz*df + xcosdx’
5. Jil(sinxe“’”+cosx)dx= ( )
A. 0 B. 2sinl C. 2cosl D. 2¢e!
6. #[ e dr=[ e ar Ma= C )
1
A. 0 B. 1 C. 2 D. 5

7. W) TS H Q) = £(1) = 1,z=xfQx +y),Wdz| =

(1,=-1)

A. 3dx +dy B. dx+dy

C. 2dv +dy D. 3dx—dy

8. E&’}E:Eﬁﬁj\'[_'1dxflj‘(x,y)dyﬁ"ﬂi(f?,—ltﬁﬂ%%ﬁﬁﬁEl"]%
A [Taf 10 B. [ f(xpde
C. flavf rema D. [ af sy
9. wlalEHa, a, oy 2o W FI [a) B H — g L PEAR K 12
A. a+a,a +a,0, +Q,

B. a,-a,a, -a,a, —q,

C. a,a,+a,,0a, +a,+aq, D. a,a,-0q,,a,—a,—Q,

X, —X,=a,
10. CEngetE HFRAE S x, —x;, =2a, BN a = (
X —% =3,
A. -1 B. 1 cC. -2 D. 0
X|]-1 0 1 2
1. W EEX R iy (L5 1 1 DX) =
8 16 2 16
3 1 7 5
A, = B. — C. — D. —
8 2 8 8

12. WHEHIEEX ~ N(3,0.3%) , D(x) /5 E A 904 1 50 A 5 5L P LY > 2.4} =

A. ©Q2.4) B. 1- ®(2.4) C. OQ2) D. 1-®Q)
=\ AEEAKEL 6 MNEENFE 4 57,3 24 S HUERIRET DL L.
1+2x—e™

D Im—=
0 In(1+x7)
14. WERES () = x(x = D(x = 2) (x =10), W FTFES ,(x) = 0 SN ECH

3x

1s. j(m

—e Zx)dx:

0551-6528 6658 0553-5368 282



hRBTA - mAEHCAE B (T

e
i
e

0551-6528 6658 0553-5368 282 I

2
16. W% z =COS(2x—y)—X,)F\IIJ£

x7 axoy o
a, a, a,—b
17. 47515 a a-b a |=
a-b a a,

ax,

O<x<l,
18. LA BX LR 3 A S (X) :{ 0 oAl NPLX > EX)} =

=\ MRERE-A KRR 74N EEHEDE 1921 PEEERE 10 49,58 22-25 /PREERE 12 47,3 78 4.

2x—x> =2In(1+x)

x” arctan x

19. sk lim

20. R J.OE e cosxdyx .

21. IEM: 4 S (x) =(1+%J 1£(0,+00) | FLIIE /L.

22. fEHIZy = €™ (x > 0) 3K i A A b a5 A U)2 H5 0 AA Ao b  FRT ASe F) = 9 TS T AR R K, K
iz AR,

23. ﬁ?iiﬂﬁj\f x2 + yrdxdy, PR XD = {(x,y) | x>+ £ 2,y 2 x 2 0}.

D

0 -1 1
24, WHERE A=|1 0 =1 EFEX5HEAX = 24- X SREEREX.
1 1 0

25. ERBAWE A 3:L.BER g E 1.70m PLER & 60%, 2B B E 1.70m BL R A 10%,
0 FERR I N BT R — 7 2

(1) FRAFER G 1.70m LU SRR — 0 oA IR

(2) FIXPLZEAER B RA R 1.70m,3RIX & —107 5 AE R,



	2025中安专升本《数学》考前三套卷（二）
	二、填空题:本大题共 6 个小题,每小题 4 分,共 24 分.把答案填在题中横线上.


